DAILY BASIS ASSIGNMENT

Date:20.05.2020 Class: VI

Day: Wednesday

Subject : English

Choose the correct option for the given common nouns:

1. journalist
a) A person who writes lyrics for a song
b) A person who writes book
c) A person who composes music
d) A person who writes news and articles
2. geologist
a) A person who flies aeroplanes
b) A person qualified to prepare medicines
c) A person who studies rocks and soils
d) A person who writes periodicals
3. architect
a) A person who makes painting
b) A person who designs and supervises the construction of buildings
c) A person who takes photographs
d) A person engaged in arts and crafts
4, porter
a) A person who makes pots
b) A person who bakes bricks
c) A person who works in a construction site
d) A person who carries luggage at railway station
5. composer
a) A person who writes lyrics for a song
b) A person who writes poetry
c) A person who writes books
d) A person who composes music

SUBJECT: MATHEMATICS

1. Hindu-Arabic numeral for CX is

a. 90
b. 100
C. 110
d. 60

2. Which oneis wrong?



a. Xc
b. xL
C. XIX
d. w

3. Successor of 5- digit smallest number is

a. 10001
b. 11000
C. 10100
d. 10000
4. 1crore= lakh
a. 10
b. 100
C. 1000
d. 110

5. 0n dividing the successor of 6-digit greatest number by 7-digit smallest number, we get the

quotient
d. 100
b. 10
C. 1
d o

SUBJECT: PHYSICS
Multiple choice questions (Select correct one):

1. Which one is not equal to 1m-
(@) 100cm
(b) 10dm
(c) 1000mm
(d) 10hm.
2. Which one is odd-one-out-
(a) Aeroplane
(b) Bus
(c) Train
(d) Car.
3. Which one is translator motion-



(a) Motion of spinning top

(b) Motion of wheel of a stand by car

(c) Motion of wings of a helicopter ready to fly

(d) Motion of stone normally falling from a height.
4. Which is not the example of rest-

(@) Atree

(b) An electric pole

(c) Building

(d) Motion of wheel of a stand by car.
5. Motion which is circular but not rotational-

(a) Motion of an athlete on circular track

(b) Motion of wheel of a running car

(c) Motion of hands of a clock

(d) Motion of blades of a moving ceiling fan.

SUBJECT: CHEMISTRY

Multiple Choice Question (MCQ)

1. Glassis transparent, while stone is ............
(&) Translucent
(b) Opaque
(c) Conductor

(d) Insulator

2. Anote book has no lustre while gold is ...............
(a) Translucent
(b) Strong
(c) Soluble
(d) Lustre

3. Chalk ...cccneuneen. in water.
(a) Dissolve
(b) Not dissolve
(¢) Floats
(d) sink

4. A piece of wood ... on water.



(@) sink
(b) Dissolve
(C) Floats
(d) Soluble

5. Sugar does not dissolve in water. Is it true?
(@) Yes
(b) No
(c) May be

(d) can’t Say

SUBIJECT: BIOLOGY

Multiple choice questions :

1) Animals that eat the flesh of dead animals
a) Scavengers
b) Omnivores
C) Carnivores
d) Decomposers

2) Honeybees transform nectar into honey by a process of
a) Regurgitation
b) Apiculture
C) Sprouting
d) Food chain

3) Fishis a rich source of
a) lodine
b) Iron
C) Phosphorus
d) Potassium

4) It is water soluble vitamin
a) Vitamin A
b) vitaminE
C) VitaminC



d) vitamin D

5) Ared protein responsible for transporting oxygen in the blood
a) Haemoglobin
b) Keratin
C) Plant proteins
d) Animal proteins

SUBJECT---SST
Multiple Choice Questions{Select the correct one}:- 1.Mahatma Gandhi had coined a new term for

the untouchables,

(a) Harijans (b) Bahujans (c) Backward class (d) Dalit

2.Prejudice and Stereotypes by a person lead to

(a) crimination (b) discrimination (c) untouchability (d) both(a)and(b)

3.The Indian constitution was drafted by

(a) Dr.BhimRao Ambedkar (b) Mayawati (c) KanshiRam (d)LalKrishna Adwani

4.In which state of India is there less distance between home and school ?

(a) Kerala (b) Rajasthan (c) Maharashtra (d) Bihar

5.There are-------- scheduled languages spoken in India.

(@) 25 (b) 24 (c) 23 (d) 22

SUBJECT: COMPUTER REVISION (CH-1& CH-2)
Multiple choice questions (select the correct one):-

1. High Level Language is the example of Generation of Programming
Language.
a) 2nd
b) 3rd



¢) 5th
d) None of these

is used to do Mathematical Calculations in a Computer.
a) Translator
b) Calculator
¢) Media Player
d) None of these

. To translate High Level Language into Machine Language whole at once we need

a) Interpreter

b) Compiler

c) Assembler

d) None of these

In Windows7 is generally used for the entertainment.
a) Mail Merge

b) Windows Sound Recorder

¢) Windows Media Player

d) None of these

. To translate Low Level Language into Machine Language line by line we need

a) Interpreter

b) Compiler

c) Assembler

d) None of these
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